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Answer all the questions.

Instructions:

(i) Assume values for missing data, if applicable and mention the same in your answer
(ii) cash flow diagram carries marks

(iii) Interest factor table for 10% is given alongside question.

1) Find the Future worth of each of the following cash flows (4)
(i) Deposit of 10,000 per quarter at an interest rate of 12% per year,
compounded quarterly, for 3 years

(if) Deposit of Y5000 per month at an interest rate 12% per year,
compounded monthly, for 2 years

(i) Deposit of 7000 per year at an interest rate 12% per year,

compounded annually, for 5 years

(iv) Deposit of 2000 per week at an interest rate 12% per year,

compounded weekly, for 1 year

B) An industrial firm is considering purchasing several programmable (3)
controllers and automating the company's manufacturing operations. It is
estimated that the equipment will initially cost $110,000 and the labour to
install it will cost $30,000. A service contract to maintain the equipment will
cost $5,500 per year. Trained service personnel will have to be hired at an
annual salary of $25,000. Also estimated is an approximate $10,000
annual income-tax savings (cash inflow). How much will this investment in
equipment and services have to increase the annual revenues after taxes
in order to break even? The equipment is estimated to have an operating
life of 10 years, with no salvage value because of obsolescence. The
firm's MARR is 10%.

C) An individual deposits annual bonus into a savings account that pays 10% (3)
interest compounded annually. The size of the bonus increases by $2,000
each year, and the initial bonus amount was $5,000. Determine how much
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will be in the account immediately after the fifth deposit.

What is the equal payment series for 12 years that is equivalent to a
payment series of $15,000 at the end of the first year, decreasing by
$1,000 each year over 12 years? Interest is 10% compounded annually.

Suppose you deposit $2,000 in an individual retirement account (IRA) that
pays interest at 6% compounded monthly for the first two years and 9%
compounded monthly for the next three years. Determine the balance at
the end of five years.

Two machines are being considered for a manufacturing process.
Machine A has a first cost of $75,200, and its salvage value at the end of
six years of estimated service life is $21,000. The operating costs of this
machine are estimated to be $6,800 per year. Extra income taxes are
estimated at $2,400 per year. Machine B has a first cost of $44,000, and
its salvage value at the end of six years' service is estimated to be
negligible. The annual operating costs will be $11,500. Compare these two
mutually exclusive alternatives by the present-worth method ati = 10%
Interest factor table for 10%
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State the differences between Micro economics and Macro economics.

Explain the significance of Unity of Command and Unity of Directions
according to Henri Fayol's principles. How is equality different from equity,
explain with relevant corporate examples.

As per Henry Mintzberg's model, what are the four decisional roles
portrayed by a manager, elaborate with examples.

Explain planning as a managerial function. Elaborate on the hierarchy of
plans.

Explain the Growth-Share Matrix developed by Boston Consulting Group
(BCG) in 1970s. Also elaborate on the implication for the SBUs that fall
into each of the category.

With a neat block diagram explain the 4 steps involved in delegation.

3)

(4)

)
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